PROBLEMAS DE TRIGONOMETRIA

Problema 150:

Simplificar la siguiente expresion:

tga+tgb 1
1 —cos(a+b) seca-cosech

1
-th (a+b)

Solucion Problema 150:

tga+tgb 1
1 —cos(a+b) seca-cosech

1
-th (a+b)

(tga+tgb)-cosa-senb (a+b)

t
1 —cos(a + b) )
+b
(tga+tgb)-cosa-senb.59n 5 ) _
1 —cos(a + b) cos (a ;— b)
Sabemos que:
X
1—cosx =2sen®—=
2
Luego:
a+b
1 —cos(a + b) = 2sen? %
Sustituyendo:
_|_
(tga+tgb)-cosa-senb.59n 5 ) _
2sen? @ cos (a -Zl_ b)
sena , senb (a+b)
(cos 2 Tos b) -cosa-senb sen=—
2sen? @ cos (a ; b)

sena-cosb+senb-cosa
-cosa-senb

cos a-cosb _
Zsenw - COS (a ; b)
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Sabemos que:

2senx-cosx = sen 2x

Luego:
a+b a+b
Zsen( )-cos( ) =sen (a+b)
2 2
Sustituyendo:

(sena-cosb+senb-cosa

)-cosa-senb
cos a-cosb

sen (a+b)
sen(a+b) _ b
cosa-cosp cosa-sen _ Sen(a+b)-cosa-senb:senb:tgb
sen (a + b) sen(a+b)-cosa-cosb cosb
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